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Ciew S ( stiff soil ) >>>>> Sy
Ldd gy >>>>> Zone3 : Z=0.3

>>>>> Cv = CVD =0.54 , CA = CAD =0.36

wa@s : type A

Etabs-SAPK
1€ 5ot > 10 km a_iLl:l_,a:BS S/q&_7 Ir

>>>>> N,=N,;=1

Z*N,=0.3 >>>>> My=1.5

My *Z*N,=0.45>0.4 >>>>> Cyy=1.6 My ZN,=0.72

Mm*Z*N,=0.45>0.4 >>>>> Cy=1.1MyZN,=0.495
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b spr i B=10% >>>>>> Bpy=By=1.2
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:DBE ¢ 43 <l

>>> T =2.25 sec

1600 (1000)
9.81% K

>>> Kp min = 1272 t/m

:MCE 431 o,

0.72

1.2%

>>> T =3 secC

1600 (1000)
9.81% K

>>> Kpmin = 715 t/m
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LRB-SN 500/100-110

LRB-SN 550/100-120

LRB-SN 600/102-120

LRB-SN 650/114-130

LRB-SN 700/126-140

LRB-SN 750/126-140

LRB-SN 800/136-145

LRB-SN 850/144-155

LRB-SN 900/144-160

LRB-SN 1000/1153-170)

LRB-SN 1100/170-185

LRB-SN 1200/176-185
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Effective Stiffness =

Properties Used for
Analysis Case :

Yield Strength = 33.6 ton

Displacement

Stiffness of linear part
=F,/d;=33.6/0.014 = 2400
fness of Nonlinear part
F1)/(dy—d1)
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(£5)+0.54+2.25
1.2

(£5)+0.72+3
4Tt

1.2

DBE Earthquake : Dp = =0.25m

MCE Earthquake : Dy = =0.45m

Tl Sy 6 Al

L esobe oldie il Sl e ;32710 Ol ks 3 8 ki ys

KD, min 1272

Kp,max = 1.10 * =1.10 * 0o 1554

KM, min 715

Kv max = 1.10 * =1.10 * o0 873

KD,max*DD _ 1554%0.25
RI B

>>>>> V= =194 ton




G e by oS m5s gl s el S Fe= Vs

POl s gl g WOl 8l S s

W h

YWh

< 4oty 3l eslazal b

05 02 abg s Slalows o1 (o s 4 |y aib 8 Sy o OT ¢yl aib s

D] el C\:r.s‘ EXCE' )‘j"

F (ton)

V (ton)

K
(t/m)

DRIFT (mm)

A (mm)

4746.726

39.15192744

39.15192744

5.486536917

54.90808981

4213.386

34.75283447

73.9047619

4.386559942

49.42155289

3680.046

30.3537415

104.2585034

6.188182775

45.03499295

3146.706

25.95464853

130.2131519

6.176215526

38.84681017

2613.366

21.55555556

151.7687075

7.198629582

32.67059465

2080.026

17.15646259

168.9251701

6.047512622

25.47196507

1546.686

12.75736961

181.6825397

6.504225815

19.42445244

1013.346

8.358276644

190.0408163

6.393514208

12.92022663

480.006

3.959183673

194

6.526712421

6.526712421

23520.294

A max

Drift Ratio =

54

h 26700

=0.002 <

0.01

0.0

:C_béw.adj:f

1

= T = 0.005 ok
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Pt Obj: 196

FtElm: 196

Ut=10

uz= 0004
r}U3=U
R1=

A max _ 4 0.01 0.

Drift Ratjo = - < o _ 0.005 ok
h 26700 RI 2
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